O

(@]

[17.02.2023.

Service

Name

N
o

AREZZO

Typ

W
(©)

T 05 - HIGHBOARD

(&)
(©)

()
o

&

~l
(@]

II|I|I||IIII|I|II|IIII|IIII|IIII|I|II|IIII|IIII|II|I|IIII|IIII|IIII|IIII|IIII|
~
o

(1) 1494x373x19
(2) 1494x373x19
(3) 1012x371x19
(4) 1012x371x19
(5) 1012x331x19
(6) 1012x331x19

(7) 792x72x18

790x290%18

(9) 290x290x18

328x290%6

(1) 778x300x120

(12) 798x164x20
(13) 397x668x20

397x668x20

(15) 1004x346x20

1004x296x20

(17) 1028x1468x3

329x10x7

340x140x75 - RAL7021 - 2stk.
60x60%(120-150mm) - RAL7021

@15x12 mm
@8x32 mm

al 62160 @
@6x32 mm 4x16 mm 77x20x15 mm

He P S

ST C@ 3,5x25 mm M4x40 mm
(R30-H tt'@ 35x16 mm ®7/9x4mm 6,3x13mm M4x25 mm

-Hetlicl

o g— 15mm

300mm 64 mm Ly Omm @ M4x10 mm




Modeliname: AREZZO MONTAGEANLEITUNG (72208

TYPE T05 - HIGHBOARD \— \N

2 Persons

S2-16L ®
4x16 mm

x20




Modeliname: AREZZO MONTAGEANLEITUNG 17.02.2025.

TYPE T05 - HHIGHBOARD N\N

2 Persons

w
W25
Ty
M10 A2 9 -
I (A2) \ §2-16) &
M4x10 mm x2||77x20x15 mm x2| [4x16 mm x2
(W3) c U (8D — (PO 4
P x8 x18 x12 a%igaq x2




_Q.om.momw.

Modellname: AREZZQO wmm_‘mum_.muh_.ﬂhzm




